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G [y J: 23. Find the points on the ellipse 4x° + XZ = 4 that are farthest
3, = away from the point (1, 0).
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ES
4‘7[ Y L\ 32. A right circular cylinder is inscribed in a cone with height &
and base radius r. Find the largest possible volume of such
a ¢ylinder.




TF( |+\E) 33. A right circular cylinder is inscribed in a sphere of radius r.
Find the largcsl possible surface area of such a cylinder.
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O’f —th &fwu( : river that is 2 km wide. A pipeline is to be constructed from
the refinery to storage tanks located on the south bank of
the river 6 km east of the refinery. The cost of laying pipe
is $400,000/km over land to a point P on the north bank
and $800,000/km under the river to the tanks. To minimize
the cost of the pipeline, where should P be located?

Q‘“"— €S IC"" &Y 51, Anoil refinery is located on the north bank of a straight
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